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Lesson 2-3c Solve Multi-Step Equations w/ Rationals 
(Fractions/Decimals) Homework 

 SOLVE CHECK 

 

 

 

1 

1.4 –  0.2(0.3𝑝 +  0.1)  =  1.8 
 

 

 

 

 

 

 

 

 

P = -7 

1.4 –  0.2(0.3𝑝 +  0.1)  =  1.8 
 

 

 

 

 

 

 

 

 

2 

−𝟎. 𝟓(𝐱 +  𝟎. 𝟑) −  𝟎. 𝟐𝐱 =  𝟒. 𝟏 

 

 

 

 

 

 

x = -8 

−𝟎. 𝟓(𝐱 +  𝟎. 𝟑) −  𝟎. 𝟐𝐱 =  𝟒. 𝟏 
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r = 1 
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𝟏

𝟖
(𝟑𝒚 + 𝟐) −

𝟏

𝟐
= 𝟏

𝟑

𝟖
 

 

 

 

 

 

 

Y = 4 ⅓ 

𝟏

𝟖
(𝟑𝒚 + 𝟐) −

𝟏

𝟐
= 𝟏

𝟑

𝟖
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Y = 11/20 
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6 

𝟐

𝟕
(𝟏𝟒𝒒 +

𝟕

𝟐
) − 𝟑𝒒 = 𝟗 

 

 

 

 

Q = 2 ¾  

𝟐

𝟕
(𝟏𝟒𝒒 +

𝟕

𝟐
) − 𝟑𝒒 = 𝟗 

 
 
 
 
 
 
 
 
 

 
Simplify original expression, then simplify ABC.  If you get the same simplifed expression, check yes, if you get a 

different exressio, check no.  MUST SHOW WORK FOR CREDIT!! 

 
 

Substitute seconds from ABC into expression.  If the answer is the height, check yes.  If the answer is not the height, 

check no. MUST SHOW WORK FOR CREDIT!!! 

 

 


